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Section : Part-A-General Intelligence and Reasoning

Q.1 In this question, three statements are given, followed by two conclusions numbered |
and Il. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follows/follow from
the statements.

Statements:

All fans are bulbs.

All bulbs are tube lights.
Some tube lights are new.
Conclusions:

I. All fans are new.

Il. All tube lights are fans.

Ans X 1. Only conclusion Il follows.
#5 2. Only conclusion | follows.
o 3. Neither conclusion I nor Il follows.

/< 4. Both conclusions | and Il follow.

Question ID : 26433070381
Status : Answered

Chosen Option : 3




Q2 gelect the figure that will come next in the following series.
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Question ID : 26433079024
Status : Answered
Chosen Option : 1

Q.3 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

ROOT : QQTV :: STEM : VGUO :: LEAF : ?

Ans 7 1. GCNH
< 2. GCHN
< 3. GDNH
< 4.NGCH

Question ID : 26433057247
Status : Answered
Chosen Option : 1

Q.4 Which letter-cluster will replace the question mark (?) to complete the given series?
AJRZ, DMTC, 2, JSXI, MVZL

Ans X 1.GRVF
X 2. HRVF
< 3. HPVF
4. GPVF

Question ID : 26433067947
Status : Answered
Chosen Option : 1




Q.5 'A + B’ means ‘A is the son of B’
‘A — B’ means ‘A is the sister of B’
‘A x B’ means ‘A is the brother of B’
‘A + B’ means ‘A is the wife of B’
If A+ B+ C x D - E +F, then which of the following statements is NOT correct?

Ans X 1.Ais the grandson of F.
/< 2. Alis the son of C.
«” 3. E is the brother of B.
/< 4.Dis the daughter of F.

Question ID : 26433090050
Status : Answered
Chosen Option : 3

Q.6 In a certain code language, ‘FINGER’ is written as ‘HHPIDT’ and ‘DESTINY’ is written
as ‘ FDUVHPA'. How will ‘'GRANTED’ be written in that language?

Ans 7 1.1TZPVDF
X 2. HTZPVCE
< 3.1QCMVDF
/5 4. HTCOVCE

Question ID : 26433081767
Status : Answered
Chosen Option : 3

Q.7 Which two signs should be interchanged to make the below equation mathematically
correct?
136 +17 +102 -3 x 2 =187

Ans X 1.+and x

X 2.+ and x
< 3.xand-
o 4. +and -

Question ID : 264330117569
Status : Answered
Chosen Option : 4

Q.8 Seven people A, H, D, F, T, E, and G are sitting in a straight row, facing north. Only
three people sit to the left of E. G and H are immediate neighbours of E. A sits at the
extreme right of the row. D is the immediate neighbour of A. F sits second to the left of
E. Who sits at the extreme left of the row?

Ans 1. T
X 2D
X 3.A
KX 4F

Question ID : 26433095009
Status : Answered
Chosen Option : 1




Q.9 6 Friends F, U, K, S, M, and A, are sitting around a circular table facing the centre. A

Ans

and S are immediate neighbours of K. F is sitting opposite to K. S is not a neighbour of
F. M is an immediate neighbour of A and F . Who is the immediate neighbour of A and

F if M and S exchange their positions?

X 1U
X 2.k
& 3.8
X 4am

Question ID : 26433068077
Status : Not Answered

Chosen Option : --

Q.10 In a certain code language, ‘find a solution’ is coded as '418', ‘be attentive’ is coded as
'29' and ‘answers are correct’ is coded as '737'. How will ‘check the question’ be coded

Ans

in that language?
< 1.835

X 2.427
 3.538
X 4.649

Question ID : 26433067779
Status : Answered

Chosen Option : 3

Q.11 Select the set in which the numbers are related in the same way as are the numbers of

the following set.

(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(216, 12, 15)

(432, 23, 31)

1

Ans 7 1.(304, 14, 24)
X 2.(380, 24, 18)
& 3.(150, 11, 14)
< 4.(484, 16, 32)
Question ID : 26433076475
. Not Attempted and
aEtug: Marked For Review
Chosen Option : --
Q.12 Which option represents the correct order of the given words as they would appear in

Ans

the English dictionary?
1 Seminar

2 Semolina

3 Senior

4 September

5 Serious

X 1.5432/1
X 213425
& 3.12345
X 4.534,12

Question ID : 26433069306
Status : Answered

Chosen Option : 3




Q.13 Which of the following numbers will replace the question mark (?) in the given series?
3,121,147, 72,7203

Ans X 1.882
25 2.1323
< 3.1218
o 4.1029

Question ID : 26433092490
Status : Answered
Chosen Option : 4

Q.14 Select the option that is related to the third word in the same way as the second word
is related to the first word.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word.)
Mumbai : Maharashtra :: Bhopal : ?

Ans ” 1. Madhya Pradesh
< 2. Delhi
7< 3. Uttar Pradesh
25 4. Andhra Pradesh

Question ID : 26433087260
Status : Answered
Chosen Option : 1

Q.15 Select the number from among the given options that can replace the question mark
(?) in the following series.
213, 216, 225, 240, 261, ?

Ans X 1.286
2. 288
< 3.289
< 4.268

Question ID : 26433078921
Status : Answered
Chosen Option : 2

Q.16 Which of the following terms will replace the question mark (?) in the given series?
LPKT, NNMR, PLOP, ?, THSL

Ans 7 1.RJQN
X 2.sJaN
X 3.8JQ0
X 4.RIQN

Question ID : 26433080688
Status : Answered
Chosen Option : 4




Q.17

Ans

Select the option figure which is embedded in the given figure. (Rotation is

NOT allowed)

x 1.

—

Question ID : 26433085754
Status : Answered
Chosen Option : 2

Q.18 select the correct combination of mathematical signs to replace the * signs and balance the given equation.

Ans

80 * 5
M 1. g g e g
?(2.:.<._|—|-,+._|
X3+, 4
g4 — X, '

* 15 * 32 * 8

* 18

Question ID : 26433085357
Status : Answered
Chosen Option : 4




Q

Ans

opposite the face showing ‘4.

X 1.2
& 2.3
X35
X 41

19 Three different positions of the same dice are shown. Find the number on the face

Question ID : 26433090076
Status : Answered
Chosen Option : 2




Q.20

Select the option figure which is embedded in the given figure. (Rotation is
NOT allowed)

Ans — —-=\

& 2.

Question ID : 26433085752
Status : Answered
Chosen Option : 1

Section : Part-B-General Knowledge and General awareness

Q.1 In the Indian Constitution 'the abolition of untouchability’ provision is mentioned in

Ans X 1. Article 14
« 2. Article 17
< 3. Article 19
X 4. Article 32

Question ID : 26433090671
Status : Answered
Chosen Option : 2




Q.2 What is the colour of the flame when magnesium burns in the presence of oxygen?
Ans X 1. Yellow

& 2.Red
« 3. White
X 4. Green

Question ID : 26433087842
Status : Answered
Chosen Option : 4

Q.3 Who among the following Gupta rulers was hailed as ‘Indian Napoleon' because of his
military achievements?

Ans X 1. Chandragupta |
/< 2. Chandragupta Il
/5 3. Srigupta
” 4. Samudragupta

Question ID : 264330115455
Status : Answered
Chosen Option : 4

Q.4 E.Krishna lyer is associated with which form of dance?
Ans X 1. Kathak

5 2. Odissi
2 3. Kuchipudi
«” 4. Bharatanatyam

Question ID : 26433086576
Status : Answered
Chosen Option : 4

Q.5 In India, the population census is conducted once every
Ans X 1.5vyears

X 2.12 years
«” 3. 10 years
X 4.15 years

Question ID : 264330116024
Status : Answered
Chosen Option : 3

Q.6 Which of the following country is not a part of the Lusofonia Games?
Ans X 1. Portugal

«” 2. Germany
25 3. India
< 4. Macau

Question ID : 264330115941
Status : Answered
Chosen Option : 3




Ans ” 1. Radio Club of Bombay
< 2. Lions Club of Bombay

% 3. Rotary Club of Bombay
/< 4. Rotaract Club Of Bombay

Q.7 Radio broadcasting started in India in 1923 by the .

Question ID : 264330115603
Status : Answered
Chosen Option : 1

control of elections?
Ans «” 1. Article 324

X 2. Article 333
< 3. Article 356
X 4. Article 367

Q.8 Which Article of the Constitution of India talks about Superintendence, direction and

Question ID : 26433074899
Status : Answered
Chosen Option : 1

India?

Ans X 1. Anil Baijal

«” 2. Vinai Kumar Saxena
< 3. Arvind Kejriwal

< 4. Manoj Sinha

Q.9 As of November 2022, who among the following is the Lieutenant Governor of Delhi,

Question ID : 264330114937
Status : Answered
Chosen Option : 2

Q.10 While computing the national income,

Ans X 1. Chemical used
5 2. Electricity bill
«” 3. Export
% 4. Road construction

is taken as a factor.

Question ID : 264330115356
Status : Answered
Chosen Option : 3

Kamakhya in Assam?
Ans X 1. Moatsu

% 2. Chapchar Kut
/< 3. Wangala
«” 4. Ambubachi Mela

Q.11 Which among the following festival marks the menstruation period of the Goddess

Question ID : 264330115113
Status : Answered
Chosen Option : 4




Q.12 The industry covers a wide range of products from transistor sets to
television.

Ans X 1. fertilizer
< 2. canal irrigation
«” 3. electronics

/< 4. jute processing

Question ID : 264330115401
Status : Answered
Chosen Option : 3

Q.13 Three of the following four are examples of Coelenterata phylum, and therefore form a
group. Which is the one that does not belong to that group?

Ans X 1.Sea-pen
«” 2. Liver fluke
< 3. Brain coral

/X 4. Sea anemone

Question ID : 264330115186
Status : Not Answered
Chosen Option : --

Q.14 launched on 25th June 2015, intends to provide housing for all in urban
areas by year 2022.

Ans X 1. O-SMART Scheme
/< 2. Pradhan Mantri Garib Kalyan Anna Yojana
«” 3. Pradhan Mantri Awas Yojana (Urban)

/< 4. Global Housing Technology Challenge

Question ID : 264330116161
Status : Answered
Chosen Option : 3

Q.15 In which of the following places was the Indian Grand Prix-4 held in June 2021?
Ans X 1.Ludhiana

o 2. Patiala
< 3. Amritsar
< 4. Jalandhar

Question ID : 26433072892
Status : Not Answered
Chosen Option : --

Q.16 A is a barrier across flowing water that obstructs, directs or retards the
flow, often creating a reservoir, lake or impoundment.

Ans X 1. meander
o 2.dam
< 3. tributary
< 4. moat

Question ID : 26433092218
Status : Answered
Chosen Option : 2




Ans X 1. Madambi Subramanian Namboodiri
«” 2. Radha Sridhar
5 3. Pasumurthy Ramalinga Sastry
/< 4. Akham Lakshmi Devi

Q.17 Who won the Sangeet Natak Akademi Award in Bharatnatyam in 20187

Question ID : 264330115815
Status : Not Answered
Chosen Option : --

March 20227
Ans X 1.Kaushal Kishore

25 2.D Thara
/< 3. Manoj Joshi
o 4. Hardeep Singh Puri

Q.18 Which Union Minister launched the India water pitch-pilot-scale start-up challenge in

Question ID : 26433081828
Status : Answered
Chosen Option : 3

Q.19 Swami Dayanand Saraswati founded the
reform Hinduism.

Ans ” 1. Arya Samaj
/< 2. Adi Hindu Samaj
/< 3. Vedant Samaj
/< 4. Adi Dharam Samaj

, an organisation that attempted to

Question ID : 264330103802
Status : Answered
Chosen Option : 1

1980s.
Ans X 1.58.6 per cent

«” 2. 38.6 per cent
/< 3.18.6 per cent
/< 4.78.6 per cent

Q.20 As per RBI, in India, services sector accounted for

of the GDP in the

Question ID : 264330116114
Status : Answered
Chosen Option : 1

Section : Part-C-Elementary Mathematics

Ans - 1.10%
X 2.12%
X3 9%
& 4. Rog

Q.1 The value of an article depreciated from ¥18,000 to ¥14,580 in 2 years. Find the yearly
rate of depreciation in the value of the article.

Question ID : 26433082406
Status : Not Answered
Chosen Option : --




Q.2 Ramu and Mohan can separately complete a work in 10 hours and 16 hours,
respectively. After working for 2 hours together, Mohan leaves the work. In how many
hours will Ramu finish the remaining work?

Ans

1
X1 6=
+
&2 6§
4
3
> A i
4

3
X472
4

Question ID : 26433075573
Status : Not Answered
Chosen Option : --

Q.3 A car covers a certain distance in 3 h with a speed of 108 km/h. If the speed is reduced
by 27 km/h, then the time taken by the car to cover the same distance will be:

1

Ans
X22h
1

4 4h

Question ID : 26433087375
Status : Answered
Chosen Option : 4

Q.4 Rahul travels a certain distance at a speed of 4 km/h and returns at a speed of 3 km/h
via same route. What was his average speed for the entire journey (correct to 2
decimal places)?

Ans & 1.3.43 km/h
X 2.5.92 km/h
< 3.1.23 km/h
X 4.2.5km/h

Question ID : 26433065293
Status : Not Answered
Chosen Option : --

Q.5 Rohan divides his complete journey in three equal parts and covers the first part at a
speed of 30 km/h, the second part at 40 km/h and the last part at 50 km/h with his car.
What is the average speed (in km/h) of his car during his entire journey?

Ans 14

14
47

X2 35

X 3. 40
X4 45

Question ID : 26433075541
Status : Not Answered
Chosen Option : --




Q.6 A can do a piece of work in 8 days and B in 24 days. They begin together, but 4 days
before the completion of the work, A leaves. Find the number of days taken by A and B
to complete the entire work.

Ans X 1.11 days
X 2.8days
o 3.9 days
X 4.7 days

Question ID : 264330116845
Status : Answered
Chosen Option : 2

Q.7 A thief started his journey at a speed of 60 km/h. After 30 minutes, police started from
the same place but at a speed of 80 km/h. How much time (in hours) will the police
take to catch the thief?

Ans 3
« 1. = hours
2

. 1

X 2. = hours
2

. 1

X 3. = hours
3

. 5

X 4. = hours
2

Question ID : 26433081044
Status : Answered
Chosen Option : 1

Q.8 What is the difference between the compound interest on Rs.5,750 for one year at 16%
per annum compounded yearly and compounded half-yearly?

Ans X 1.Rs.49.76
« 2. Rs.36.80
2 3.Rs.29.50
X 4.Rs.32.58

Question ID : 26433064989
Status : Not Answered
Chosen Option : --

Q.9
Evaluate the following expression.

[2ed] s g2y~ (D]

Ans

& 1. =5

Question ID : 26433090248
Status : Answered
Chosen Option : 1




Q.10 The volumes of two cones are in the ratio of 3 : 2 and their radii are in the ratio 3 : 4.
The ratio of their heights is:

Ans 7 1.83
X 2.94
X 3.4:9
X 4.2:1

Question ID : 26433075481
Status : Not Answered
Chosen Option : --

Q.11 In an election, there were two candidates A and B. The total number of voters in the
constituency was 90000 and 70% of the total votes were polled. If 60% of the polled
votes were cast in favour of A, how many votes were received by B?

Ans X 1.28500
2. 25200
2 3.28700
X 4.28600

Question ID : 26433079770
Status : Not Answered
Chosen Option : --

Q.12 The curved surface area of a sphere is 1386 cmZ2 . The volume of this sphere is:
Ans X' 1.4815cmd

«” 2.4851 cm3

75 3.2425.5cm?

X 4.1617 cm®

Question ID : 26433087406
Status : Not Answered
Chosen Option : --

Q.13 The ratio of milk and water in two containers of 20 litres and 36 litres are in the ratio 3
:7 and 7 : 5, respectively. What will be the ratio of milk and water if the two containers
are mixed together?

Ans X 1.9:13
& 2.27:29
5 3.21:23
K 4.21:25

Question ID : 26433091899
Status : Not Answered
Chosen Option : --

Q.14 The square of 28 is divided by the largest number that can exactly divide both 42 and
56. What is the result?

Ans X 1.28
X 214
X 3.42
& 4.56

Question ID : 264330116654
Status : Answered
Chosen Option : 1




Q.15 A table whose marked price ¥300 is sold at two successive discounts of 20% and 10%.
If in addition, a discount of 5% is offered on cash payment, then the cash price for the
table is:

Ans X 1. 3210.25
X 2.2216.50
X 3..2240.25
4 Z205.20

Question ID : 26433082095
Status : Not Answered
Chosen Option : --

Q.16 The price of petrol is raised to Rs.96.5 per litre from Rs.92 per litre. What is the
percentage increase in price of petrol?

Ans X 1.45%
K 2.47%
& 3.4.9%
X 4.51%

Question ID : 26433071246
Status : Not Answered
Chosen Option : --

Q.17 The third proportional to 24 and 36 is:
Ans X 1.45

X 2.64
 3.54
X 4.46

Question ID : 26433074993
Status : Not Answered
Chosen Option : --

Q.18 Under a discount scheme, after allowing a discount of 20%, there is still a gain of 10%.
The marked price is what percentage more than the cost price?

Ans X 1.39%
& 2.37.5%
X 3.40%
& 4.352%

Question ID : 26433083042
Status : Not Answered
Chosen Option : --

Q.19 Harshi bought a new sweatshirt at the store, when they were giving a 40 percent
discount. If the marked price of the sweatshirt was Rs. 2999, then how much did
Harshi pay with the discount?

Ans X 1.Rs.2099.20
« 2. Rs. 1799.40
X 3.Rs. 2399.50
X 4.Rs. 1899.80

Question ID : 264330116730
Status : Not Answered
Chosen Option : --




Q.20 A man sold two chairs for Rs.475 each, gaining 25% on one and losing 20% on the
other. Had he sold the two chairs for Rs.575 each, what would have been his gain/loss
percentage (rounded off to the nearest integer)?

Ans X 1.45% gain
«” 2. 18% gain
5 3.41% gain
< 4.25% loss

Question ID : 26433071284
Status : Not Answered
Chosen Option : --

Section : Part-D-English

Q.1 Select the most appropriate option to fill in the blank.

We would to travel by train rather than bus due to the poor road conditions in
the village.

Ans 7 1. prefer
75 2. assure
< 3. make it
X< 4. drop

Question ID : 26433091877
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The participants are rehearse their roles.
Ans X 1. are rehearsed
/< 2. has been rehearsing
75 3. have rehearse

o 4. are rehearsing

Question ID : 26433091869
Status : Answered
Chosen Option : 4

Q.3 Select the option with the correct spelling to replace the underlined word in the given
sentence.

She hit him in a moment of abomination.
Ans X 1.aberation

75 2. abberation
/< 3. aberattion
«” 4. aberration

Question ID : 26433094408
Status : Answered
Chosen Option : 1




Q.4 Select the most appropriate ANTONYM of the given word.

Anxious
Ans X 1. Considerate

«” 2. Unconcerned
/X 3. Stealthy

5 4. Haughty

Question ID : 26433074380
Status : Answered
Chosen Option : 3

Q.5 Identify the correctly spelt sentence.
Ans X 1. My grandfather planted couliflower in the garden.

25 2. My grandfather planted kauliflower in the garden.
5 3. My grandfather planted cauleflower in the garden.

«” 4. My grandfather planted cauliflower in the garden.

Question ID : 26433072831
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate synonym of the underlined word.

Music is a therapy for everyone — plants, birds, animals and human-beings - to
flourish and rejuvenate.

Ans X 1. modify
5 2. prosper
o 3. refreshen
X 4. fortify

Question ID : 26433089100
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate meaning of the given idiom.

After one’s own heart
Ans X 1. Having a face as one's own

/< 2. Having likes and dislikes dissimilar to one’s own
/< 3. Having likes and dislikes far to one’s own

«” 4. Having likes and dislikes similar to one’s own

Question ID : 26433072278
Status : Answered
Chosen Option : 4




Q.8 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Our soldiers have being / making a clean sweep of the / sheep and poultry on the
route.

Ans X 1.No error
< 2. sheep and poultry on the route
«” 3. Our soldiers have being

/< 4. making a clean sweep of the

Question ID : 264330114510
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate ANTONYM of the italicised word in the given sentence.

It is absurd to argue about this.
Ans X 1.facetious
< 2. fundamental

«” 3. reasonable

< 4. amazing

Question ID : 26433096209
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option to fill in the blank.

men command respect.
Ans 7 1. Holy
< 2. Holey
< 3. Holly
< 4. Wholly

Question ID : 26433073934
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate synonym of the given word.

Sumptuous
Ans X 1. Mammoth
75 2. Humble
#< 3. Minuscule
«” 4. Lavish

Question ID : 26433073980
Status : Not Answered
Chosen Option : --




Ans

Q.12 Select the most appropriate idiom to substitute the underlined group of words in the
given sentence.

Once in a year, the management of the institute surveys the whole situation.

o 1. take stock of
X 2. perplexed with
25 3. makes a mark

X 4. comes to the front

Question ID : 26433073878
Status : Answered
Chosen Option : 3

Ans

Q.13 Select the correct pair of words for the blanks in the given sentence.

My cousin likes root and around the bush is one of the idioms in
English.

75 1. beat; beat
X 2. beat; beet
«” 3. beet; beat
/< 4. beet; beet

Question ID : 26433060543
Status : Not Answered
Chosen Option : --

Ans

Q.14 Select the most appropriate homonym to fill in the blank.
He confessed about his affairs as the made him sleepless.

& 1. guilt
& 2. gilled
X 3.gild

& 4. guild

Question ID : 26433058525
Status : Not Answered
Chosen Option : --

Q.15

Ans

Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The students were boring by the lecture delivered on environmental issues.

< 1. The students were bores
75 2. The students bored
5 3. The students were barring

«” 4. The students were bored

Question ID : 26433091771
Status : Answered
Chosen Option : 2




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially (1) avoid such foods or try to reduce intake and instead, eat
healthy food for (2)___ growth. Schools can (3) the quality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (5) should be appointed to check the calories content and food value of food
served in the canteens and setting definite tiffin patterns.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1. might

2 2. will
&« 3. should
X 4. shall

Question ID : 26433089046
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially (1) avoid such foods or try to reduce intake and instead, eat
healthy food for (2)___ growth. Schools can (3) the quality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (5) should be appointed to check the calories content and food value of food
served in the canteens and setting definite tiffin patterns.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1.elegant
o 2. proper
X 3. interesting
& 4. awkward

Question ID : 26433089047
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially (1) avoid such foods or try to reduce intake and instead, eat
healthy food for (2)___ growth. Schools can (3) the quality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (5) should be appointed to check the calories content and food value of food
served in the canteens and setting definite tiffin patterns.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1.allow

X 2. show
< 3. proclaim

«” 4. monitor

Question ID : 26433089048
Status : Answered
Chosen Option : 4




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially (1) avoid such foods or try to reduce intake and instead, eat
healthy food for (2)___ growth. Schools can (3) the quality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (5) should be appointed to check the calories content and food value of food
served in the canteens and setting definite tiffin patterns.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans X 1.through

& 2. with
o« 3. from
X 4.in

Question ID : 26433089049
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially (1) avoid such foods or try to reduce intake and instead, eat
healthy food for (2)___ growth. Schools can (3) the quality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (5) should be appointed to check the calories content and food value of food
served in the canteens and setting definite tiffin patterns.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans X 1. Technicians

o 2. Dieticians
X 3. Paediatricians
< 4. Opticians

Question ID : 26433089050
Status : Answered
Chosen Option : 2

Section : Part-D-Hindi

Q.1 e 3 AN T 954 W I
m;mﬁm‘uaﬂm'%?wwmﬁiﬁwwmmﬁaﬁﬁmmﬁm
T R?

Ans X 1.9 A QAT B 95 RS B
< 2. 1o 1 gAfd &1 9gd Sera &
2 3. e - gAfd &t 9gd a1 1
o 4. 7T 3 QAT B Igd U= B

Question ID : 26433067027
Status : Not Answered
Chosen Option : --




Q.2 91 A Y@ifed eg B AT T 3] # A SR 2eg A Tl |
YR B FHAT BT FIT IR HIHMGS |

Ans 1 &y
X 2.edr
X 3.39
X 4.y

Question ID : 26433062873
Status : Not Answered
Chosen Option : --

Q.3 Prafafld areain & R Suged arde v 8-
fomr ward & ot B aren

Ans X 1. fgam
7 2. 98D
o 3. Fandf
X 4. @

Question ID : 26433065765
Status : Not Answered
Chosen Option : --

Q4 Fafafad arel & faa v @) gfd sfra verdf wreg-gm d +¥-
e afe B ST 81 Pga AR TR

Ans X 1. Y9 9fgd- ad Th
X 2. foraw v B)- s yg A |
X 3. WYY JW
4. T3

Question ID : 26433091326
Status : Not Answered
Chosen Option : --

Q.5 A9 F I USAT YeTax 1 3fra 3 8-
Ans 1. T & Tl g1

X 2.goAeT

2 3. 9ga Hf® A g

X 4. AR ST

Question ID : 26433065879
Status : Not Answered
Chosen Option : --

Q.6 Tt B =} | T TN I F IAR[E YT BT 99 PIfoIL-
of @ ¥ T I SeR-fAeR 3mawa® 21

Ans X 1. 3MER-[d8R
2. 70 Ty
X 3 Ffmgs
X 4. 3aWH B

Question ID : 26433062885
Status : Not Answered
Chosen Option : --




Q7 9 # A PH-A1 T FTY Weg BT TATGATH g 781 82
Ans X‘LETE

X 2.

X 3.8

o 4.5

Question ID : 26433067083
Status : Not Answered
Chosen Option : --

Q8 fFafafed # 9 Js a1 &1 99+ Fifon-
Ans X 1. 310 e 3TT?

2. 30 & 3T?

X 3. 3U &4 3mT?

X 4. 3 H MR

Question ID : 26433091312
Status : Not Answered
Chosen Option : --

Q.9 fRuTery &t Dfeat @ Hdl § 1 gt # fYa T 9 i Sfa geraR g
ﬂgll%’IQI

Ans X 1. TR
X 2. ST A §
3. STTHA J 91d Bl &
X 4. R BIUEIS §

Question ID : 26433062610
Status : Not Answered
Chosen Option : --

Q.10 g o Wil TIPS = | Isd S freran g - areiw & ¢ ' weg g1
Ans X' 1. IR

2.5

X3 g

X 4.9

Question ID : 26433065729
Status : Not Answered
Chosen Option : --

Q.1 fFmfifEd fawl & ¥ 59 ve areg | Jenaras faRivor o1 3w 38t favar mar g2
Ans 1.7 & HIA A B

X 2. gdeaT ¥ ugqa &1 3 u1d 81 T & |

2 3. 3R S A 5% off ger g1 U B

X 4. TETe T 95 IS HUS Ugd Al

Question ID : 26433062966
Status : Not Answered
Chosen Option : --




Q.12 Pt uard a1 7T &1 g uerd ar ey # et SAr- arein ¥ T v Weg g -
Ans X 1.9H

X 2. G

3. faem

X 4. TBIERU

Question ID : 26433065727
Status : Not Answered
Chosen Option : --

Q.13 g & | -1 Ak ‘T g $T YaTgard! eg 761 872
Ans X 1. YUl

X 2. femufa

AR

X 4.7y

Question ID : 26433067085
Status : Not Answered
Chosen Option : --

Q.14 fPrfafad e § § 919 91 TP a1 YA gd-m @ Safid T8 872
Ans 1.71’5’1{@?1'[%3{@%?

2 2. SR T TG 3R e B9 $Ra1 82

X 3.5 TSl fhudi 82

o 4 Bl A TR A R 2

Question ID : 26433091239
Status : Not Answered
Chosen Option : --

Q.15 T T a1 & IS YT FT 997 DI
T A g Aurdt o1 3 et AW HHET

Ans X 1. g Ourdt
X 2. T 3D
X 3. 99 HEM
& 4 THEW

Question ID : 26433085086
Status : Not Answered
Chosen Option : --




Comprehension:

Fofafad mere & oo s ol ger i mr 71 o e fawedt ot geradr & Raa @ @) gfif
FITY | T WA & TE qa ST 9oy &1 70 i |

3T T a1, W7 g | Hgwayul 3R et 2. Eakenl
FAH AP oS AT USAI S| AETS g3, ﬂé%lmﬂwé}ﬁﬁ@r
AP 4. TP BT SATAIHATY ST AU 81 TS ¢ 1 URAR P YIS & P
uﬁmﬁ%ﬁmm@wmm%m@wwﬁ%ﬁmwﬁﬁ@mmﬂmwﬁm
CERICIE]
SubQuestion No : 16
Q.16 Yo =T 1 B el & R wad Suged faswey o1 aa- S|
Ans X 1. &1
X 2. gt
X 3.9d-3g
& 4. HTTETS

Question ID : 264330111119
Status : Not Answered
Chosen Option : --

Comprehension:

fafafad T § oo vl &1 ger g m 1 fou e fawent &1 werdr ¥ fad wiHl @ gff
FIY | TS AT & foTT Had SUgad fdded &1 70 i |

3T T SffaT 1. Y WRT S| eIyt 3R Hfarf 2. BRI
FAH IS T PRAT TS 31 HETS 9gd 3. TR SHS AN G = d
AR 4. T P SHTAIHATY ST U 81 TS ¢ [ URAR F TS & P
W%mmﬁ?wmélmﬁaﬁ$ﬁmwﬁﬂﬁ@mwmm
5. TR

SubQuestion No : 17
Q.17 Yo w2 F gfd & R gad Suge fiwe o1 9a s
Ans o 1. STaTHATS
K 2. 3[aWR
< 3. HIgAT
K 4. 9e

Question ID : 264330111120
Status : Not Answered
Chosen Option : --

Comprehension:

o mere ¥ g weal 3 ger fan ma 71 fau e et 3t weradr § fad i @ gfif
FIOTY | TS TeAT & FRTE Yoy ST fddhed &1 70 i |

3T T a1, %w%msr—cn{tﬁaﬁwrﬁaﬁz. Eakenl
A | s TgY HIAT ISa1 3| RS §gd ﬁ%lmﬂwe‘}aﬁﬁ@r
AP 4. Wﬁmﬁmﬁﬁ%%qw%uﬁawaﬁ
W%mmﬁ?mm%maﬁ?m%mwaﬁmmﬂmWW
5. TR

SubQuestion No : 18
Q.18 Yo =T 3 #1 gl F RoIe wad Sugad fawey &1 9a- S|
Ans X 1. 71

X 2.9
X 3.@d
4. 9¢

Question ID : 264330111121
Status : Not Answered
Chosen Option : --




Comprehension:

Fofofad T A oo gl & ger foar T 31 3T T fawet 3 ggraar @ Rad =i ot gfid
FITY | T WA & TE qa ST 9oy &1 70 i |

3T T a1, ¥ W1 3| Hew@qUl SR 1A 2. Eakenl
B H SARID TuY BT Ul & | HES §gd 3. T8I 39 QU gl o=l |

AP 4. TP DI MMATHA a1 31fEp 81 718 € fob URAR & TS I &l
W%mm@?mm%l R 3R 3T & fere gwg &) e gYanl shia gof &

5 TR

SubQuestion No : 19
Q.19 Yo ®IF 4 B gl F R wad Suged faswey &1 9u- S|
Ans 1 Fel
X 2. WHR
5 3.9}
X 4. fd @t

Question ID : 264330111122
Status : Not Answered
Chosen Option : --

Comprehension:

fafafad T § oo vl &1 ger g m 1 fou e fawent &1 werdr ¥ fad wiHl @ gff
FIY | TS AT & foTT Had SUgad fdded &1 70 i |

3T T SffaT 1. 11 3| AEw@yu SR Stfard 2. BRI
F B 3rafiies o AT TSl 8 | HETS §gd 3. TS 59 9 8 S A
AR 4. TP BT AW HAY a1 31fEep 81 T8 ¢ fob URAR & U Jag &l
W%mmﬁ?wm%lmﬁaﬁ$mwﬁﬂﬁmlwmm
5. TR

SubQuestion No : 20
Q.20 Yo = 5 F gfd & e gead Suge e o1 97 S|
Ans X 1. UPR
X 2. Tga®
X 3. DRI
4.7

Question ID : 264330111123
Status : Not Answered
Chosen Option : --
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